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cos? 0 +sin’6 =1
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sin(a £+ ) = sinacos § £ cos asin 3
cos(a £ () = cos acos 8 F sin asin 3

tan(a + 8) tan o & tan 8
nio = ———-
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sin 20 = 2sin 0 cos 6

cos20 =2cos’f —1=1—2sin’6 = cos®’f — sin’ 0
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sin30 = 3sin@ — 4sin> 0
cos30 = 4cos> 0 — 3cosh

3tanf — tan3 0

tan 30 =
an 1—3tan0
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an® - = ———
2 1+ cosf
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sin o cos 3 = %(sin(a + () + sin(a — 5))
cosasin 3 = %(sin(oz + ) — sin(a — ﬂ))
cos o cos 3 = %(cos(a + ) + cos(a — 5))

sinasin f = —%(cos(a + ) — cos(a — ﬁ))
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A+ B A-B
sin A + sin B = 2sin —; cos 5

A+ B A—-B
sin A —sin B = 2 cos ; sin 5

A+ B A—-B
cos A + cos B = 2cos —; cos 5

A+ B A—-B
cos A — cos B = —2sin —12_ sin 5
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